+

it W m (2) $538

MIER L=110m

—

8 . (:‘.\ 2200 ——] L v
= i SURY S &R s=1:5000
i 1= TiMH il 5 1 BBH=2. 00m * R 1= TAH I 5 L 8BH=1. 50m 1= TiAH i 5 £ BBH=2. (Om NOBEET —ERGHSR - A —HHR—TRER /l\ ;12 )” & B T
1:500 = T2 5 £ B H=2.|50m ¢ .
B BEEEE=LE [BER HETEREEELE-LE
0l=0. 00
L 5. 56 (ST R B YY)
2200 2200
)8, 5470. 08 %) 1%
@ 19,00 ®|os. 50
3 - - o o~ o e - o o
- - o o o - - o ~o -
= - - < < S - - i - -
» 2 = S 2 gx =3 =5 =5 s2 s
ﬁ - - < s S - - i -—-— - oied o
4 pad o~ - o ~— - wo ~o e
- £ = 2 : S8 =3 EH £2 =H] g
4 s e - « e S ww w < ~< «
= = 3 ] 2 = H s = s
o = s o « - ~ < < <
S 8 8 ] g B ] = 2 s &M =5 I$ES TeIE =
< - < o - - - [ = =
: - = = - = = = = = I ¥ £ | REmARTAEDRERGHRELEIE
s ] s s s = s 2 s = EEEY L e HEEE
s = o = ] = = B E BoO# &
= - - - - = - - - ‘ BT fr B | EWEMARETHRTERN N
] + £ < < < ~ ~ & & iy = ] & l
L] i I T T T I by i i : : H [Z]
T OB OB % B




BB E A S
E=1E
x #
#2300 IR R 5300
- 24EEI8 o

FEiE R S

wuilg_

(250)

(250)

50

T

300

250 | |

RMIL : BEMHEAs t=50mm

BT : BAEMARC-40 t=250m

HEERRER

S=1:20

D

B E & &

(=3 /N ))

A 1% B
SN %820 BT P 5820
. 20my 7
120N FREEELT i
Fibgic U 20 | #E0E600 1mHltE B 218600 220
D 2
| 2
7718
N ﬁ /
EWT - BEFHEA Q) RETE t350m // s
E
EMI: BEMMEASKRIY t=70m Ve g
N\ s
LWEBRT | FETUMEEME t=100m yd
N\ s
BRAET . BARERC-40 t=600m

B M Xrf
B E S E &
A % H
ShEEARB B 130 SHERRBE R 130
A2
L peE B pan

RMET : FEMHBAEA t=30mm

BT : BAEMARC-40 t=100m

XIREBN 30 ARICKEIBETS

s 6 #E IFES TOIE
I B & | ABEARTAEIRERRBECEIE
mEosn | mzsemss |5 o
wo#
®IGE | ERBABMORFERAALRA

Bl F & £l

: H [£] E

T OB B % & ®




